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cc 1 eur 1 13 | 02 200 | —37 | 46 2 50 25
cc 2 eur 1 13 0.2 200 —4 6 25 | 30 12
DA Fer Lo 13 0,2 200 -3 2,8 35 51 | 14,6
DH MOG 2 16 0,25 200 -3 6 375 | 40 10,5
DHL MOG 2 16 0,25 150 —1,5 3,8 45 | 58 13
H 30 MOG 3 13 0,3 250 —1,5 7 4 53 13,3
HL 13 eur 3 13 0,2 200 -3 6 3,5 \ 40 12
HL 13 S eur 1 13 0,2 200 -3 6 3,5 1 40 12
HL 133 Maz 4 13 0,2 250 —1,9 1,5 3,4 36 10,6
HL 1320 Maz 3 13 0,2 200 —2 18 3 i 30 10
4D1 Bri 3 13 0,2 250 -3 0 4 P40 10
17 amer 5 14 0,3 180 | —13,5 5 1 b9 9
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| | E | Y
. a, | Y| : ol % b 1 5 1 &
\ A |V vV | mA \ mAJV VIV % kO
26 amer 6 15 0,35 l 90 1 —~1,5 45 | 116 10,5 9
28 amer 6 15 0,35 i 90 ~1,5 7.5 1,16 10,5 9
32 amer 6 15 035 | 135 J -3 1,5 | 094 30 31,5
Equivalents G 2 A 3 M ¢
A
A 26 amer = 26
A 28 amer = 28 A K
A 32 amer = 32 F F
A 48 amer = 26
H 13 Mul = CC2 M X Fr—r
HL Lis ~ DH FF 6
HL 13 C Mul = HL 13 S CC1 DH HL13
RA 1 amer = 26 G
T13 U Mul = CC 2 5
T 1335 Tri = CC1
TB 8013 Imp = CC 2
TCC 2 Tu = CC2 A K
uc 2 Dar = CC 2
UT 2 Oxt = CC 2 b =
13 U 13 Ult = CC2
17
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